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1.  What is the molar mass of a gas if 8.11 g of it occupy 2.38 L at 109 kPa and 10°C?

2.  A flask has a volume of 258mL.  A gas with a mass of 1.48g fills the flask at a temperature of     302K and a pressure of 98.0kPa. Calculate the molar mass of the gas.

3.  Calculate the molar mass of methane if 0.179g of methane occupies 250mL at STP.

4.  What is the molar mass of a gas if 5.75g of the gas occupy a volume of 358mL at 95.5kPa  and 52.0°C?

5.  What is the molar mass of a gas if 25.0 grams of gas has a temperature of 273K and a pressure of 980mm Hg a in a 20.0L tank?

6.  What is the temperature of a gas if 55.0 grams of gas with a molar mass of 46.0g/mol has a pressure of 1.25atm in a 25.0L tank?

7.  What is the mass of H2 is needed to fill a 200.0 L tank at 24.0°C and a pressure of 135atm?

8.  What is the density of CO2 at 745mm Hg and 65.0°C?

9.   The density of a sample of phosphorus trifluoride is 3.67g/L. What is the molar mass of the gas at 15.0°C and 750torr?

10.  The molar mass of the atmosphere on Titan is 28.6 g/mol. The temperature is 95.0K and the   pressure is 1.60atm. Calculate the density of Titan’s atmosphere.

